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QUESTION 1

Which of the following TCP/IP model layers does the OSI model Data Link layer map to? 

A. Application 

B. Transport 

C. Internet 

D. Network Interface 

Correct Answer: D 

 

 

QUESTION 2

Which of the following WAN technologies has a MAXIMUM speed of 155.52Mbps? 

A. OC-3 

B. T3 

C. OC-12 

D. E1 

Correct Answer: A 

 

 

QUESTION 3

Joe, a technician, is attempting to connect two hubs to add a new segment to his local network. He uses one of his
CAT5 patch cables to connect them; however, he is unable to reach the new network segment from his workstation. He
can only connect to it from a workstation within that segment. 

Which of the following is MOST likely the problem? 

A. One of the hubs is defective. 

B. The new hub is powered down. 

C. The patch cable needs to be a CAT6 patch cable. 

D. The technician used a straight-through cable. 

Correct Answer: D 
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QUESTION 4

Layers 5, 6, and 7 from the OSI model correspond to which of the following layers of the TCP/IP model? 

A. Transport 

B. Application 

C. Internet 

D. Network Interface 

Correct Answer: B 

 

 

QUESTION 5

A corporate office recently had a security audit and the IT manager has decided to implement very strict security
standards. The following requirements are now in place for each employee logging into the network: 

Biometric fingerprint scan Complex 12 character password 5 digit pin code authorization Randomized security question
prompt upon login 

Which of the following security setups does this company employ? 

A. Single factor authentication 

B. Three factor authentication 

C. Two factor authentication 

D. Single sign-on 

Correct Answer: C 

According to proponents, two-factor authentication could drastically reduce the incidence of online identity theft,
phishing expeditions, and other online fraud, because the victim\\'s password would no longer be enough to give a thief
access to their information. 
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